Pre-Final Examination-2022
H.S. 2" Year
Sub- Accountancy

Marks- 80 Time- 3 hrs.

Answer the following questions as perinstruction given. ~ 1x8=8
RO SR wers et Bey fm-
a) Fill in the blanks (ISR =731
i) Income and Expendincne Account is a account.
T 1S N i b 2ot
ii) Atleast partners are necessary for forming a partnership.
SR @SBt 15 AT S e o
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iif) Current Ratio is the relationship between ___assetsand
current liabitities.
BIeT® SAAles 57l i SR (i RS oI
iv) Equity Share holders are ofacompany.
G G <Bf FT=AIT |
b) State whether the following statements are “True” or “False”
O T (PRI 7 (7 ey B |
i) Goodwill is a liability of the firm.
I RIS B |
ii) A Preference Share holders gets interest at a fixed rate.

e FFPRYE SN G5t S e 7o i |
iif) Liability of a Shareholders is unlimited.
ST GEAT (A TR |
c¢) What is partnership Deed?
SIS gfe [
* Answer the following questions. 2x4=8
a) What is Receipts and Payment Account?
ol I 3969 ot e e
b) Give two conditions under which a partnership firm is dissolved.
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- ¢) Mention any two features of a Debenture.

Yetoiaq R 70! TR Brerd <4 | |
d) Mention two objectives of preparing financial statement.

REly aiferma aweFeT 15! Srl Trard Fl |
Answer any five from the following questions. 3x15=13

a) What is Profit and Loss Appropriation Account. State any two
features of it.

IS (PO BTaie RBist R 2 2ie Rl 4! e
B 4 |

b) State any three differences between trading and non-profit
organisations.
TP S SIS eifSdig sere Reiel ool
{12 Beerd 41|
c) What is comparative statements? Mentions two objections of
preparing comparatine statement.
R RS e R 2 e Rf ergroshee 451 ST
Tl 4 |
d) Mention three uses of Financial Statement.
81 efrmas fob! == it F1 |
e) Write a short note on “Average Profit Method™.
NG TS ~fafed e7i<® b HCHIw il
f) A company’s stock is Rs. 2,00000. Total liquid assets are Rs.
8,00000 and quick ratio is 2:1. Calculate current ratio.
Bt Pr=ATI BF ARSI 2,00000 o O 7o AT
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g) Ram, Rohim and Ganesh are partners sharing profits in the

. 11 7
proportion of —, = and T Ganesh refired from the firm and

573
his share is acquired by Ram and Rohim in the ratio of 3:2-
Calculate the new profit sharing ratio.
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Answer any five from the following questions. 5x5=25
a) What do you mean by Non-profit organisations? State its chief
features.
SR 2o 3R R g 2 2R 0 G TR e
b) What is cash flow statement? Explain its three limitations.
ol 2tz 2o A Rre @ aferame fofe Aol
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¢) What is Ratio Analysis? Mention any three limitations of ratio
analysis.
e Resad /e weits R Ao fRE Aol
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d) A Business has a current ratio 3:1 and quick ratio of 1.2:1. If the
working capital is Rs. 1,80,000, Calculate current assets and stock.
G TPIER BT ST 3:1 S OIFe] TS 1.2:1. TR TR
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¢) Goalpara Clubhad a cash balance of Rs. 20,000 and Bank
balance of Rs. 35,000 respectivly on 01-04-2017. From the
following details prepare a Receipt and payments Account for
the year ended 31-3-20 18.
st FR 3 01-04-2017 SR Tl 61 et i
20,000 58 I (43S T iR 35,000 Bl | S S Ay
31-3-2018 SIRTA S #/1 IIBE AR S 4T Kol e F4i-

SubscripﬁonRewived Rs. Rs.

2016-17 30,000

2017-18 2,25,000

2018-19 10,000

2,65,000

Donation for Building 60,000
Entrance fees 23,000

1 ife membership fess 20,000
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Printing & Statiopary 38,750 Particulars | 2018 2019 Particulars 2018 | 2019
Lighting Expenses 26,250 (Rese) ®s) Rs) (R (Rs) ®s)
Rent and taxes paid 17,000 To cost of 95,000 1,05,000 | Bynetsales 1,20,000 | 1,45,000
Postage 2,000 Goods sold
Salaries 88,000 To Gross 25,000 40,000
Insurance 15,000 Profit¢/d ’ i
Interest Received 18,000 95000 | 1,05,000 1,20,000 | 145,000
Locker Rent Received 42,000
Purchase Furniture 2,00,000 To office 2000 8000 By Gross 25,000 40,000
Cash in hand as on 31-03-2018 23,400 expenses profitb/d
f) Distinguish between Realisation Account and Revaluations Account. To Distribulion| 3000 5000
TMIER 1ol S o] JeUiFas e SR @il Exp.
g) A and B are partners sharing profit equally. Balance sheet on
December 2021 was asfollfws— Y 25,000 | 40.000 2000 | 40000
A SI% B 3 Sl #fe 354 391 S iifes | fore s . ¢ 5 Answeranythreefrom the following questions. 8x3=24
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- Balance Sheet L a) Amab Company Ltd. issued 10,000 equity shares of Rs. 100
Liabilities Amount | Assets Amount each at a premium of 10% payble as under-
Creditors 11,200 | SundryAssets | 59,000 Rs: 30onApplication
Billpayable [ 1,800 Rs: 60onAllotment (including premiums)
Reserve Fund | 6,000 Rs:20 oncall
Capital Kamalesh holding 400 shares failed to pay the allotment and call
A 20,000 money and Monalisa holding 700 shares failed to pay the call
B 20,000 | 40,000 money. Show the entries in has cash book and journal of the
company for the above transactions.
59,000 59,000 b) S.K. Ltd. issued 1,000, 12% Debentures of Rs. 100 each. Give
journal entries for redemption of the debentures in the books

of the company under the following conditions. 2+3+3=8

The firm dissolved on the above date. Assets are realised at Rs.

49,600. Creditors allowed a discount at @ 2 and dissolution
CXpenses came to Rs. 544.

Give Journal Entriesto cloge the books of the firm.
A SBIREOI bt T8 5 iR it et &R

h o .
) F rom the followmg Income statements, prepare common size

ficome statement and give your comments.

o
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¢) Write a short note on :

a) Issued at par and Redeemable at par after 5 years.

b) Issued atpar and Redeemable at a premium of 5% after 5 years

¢) Issued at a premium of 5% Redeemable at parafter 5 years.

34+34+2=8
a) Redemption of Debentures

b) Loss on Issue of Debentures

¢) Minimum Subscription




d) Ram and Rahim are partners in a firm. The Trial Balance of the
firm as on 31st March 2020 was as under-
I S IR G AfSHT ST | 0 TF 3033 BifFL®
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Dr. Trial Balance
Particulars Amount Particulars Amount

Rs Rs
Machinery 54,000 Capital
Goodwill 10,000 Ram-50,000
Patent 20,000 Rahim-40,000
Sundry Debteors | 21,000 90,000
Cash in hand 1,000 Sundry creditors 5,000
Closing stock 25,000 Interest on Investment | 400
Investment 10,000 Sundry Receipt 200
Depreciation on
Machinery 6,000 Bills payable 2000
Rent 10,000 Bank overdraft 10,000
Carriage outward | 1000 Outstanding wages 500
Taxes 500 Trading Account
Gross profit 71,000

Telephone charge |3,600 Discount 900
Commission 800
Drawing

Ram- 5000

Rahim 4000 9000
Salaries 8000
Bank Charges 100

1,80,000 1,80,000

Prepare profit & loss Account, profit & loss Appropriation
Account and the Balance sheet of the firm for the year ended 31st
March 2022 after considering the following information-

i) Write off Rs. 1,000 as Bad debt and provide a 5% provision

as sundry debtors for Doubtful Debts.
ii) Interest on Investment accrued Rs. 600

L.

)
iif) Interest an partner’s capital is allowed @ 5% P.A.
iv) Create a General Reserve by taking Rs. 5000 out of profit.
¢) What do youmean by “Goodwill”? Discuss the various treat-
ment of Goodwill on admission of a new partner. '
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f) What do you mean by dissolution of firm. Under what circum-
stances a partnership firm is dissolved? Explain.
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